REBEAE T ER

11828 [1330] 1500 [st2xEE2 (E2@) oF HRIE B
11A4E  [1000 1200 [PEFEZAZ OHBERTZAZAR 0E %{E%Zﬁ%{;; Bl
=
1A |rio0|1250 [BREDFERS - EsmrRAER By | EAHRsRALY ||
1A4E  [1200 1300 [REEMIZAS - MEEMEIARAR M | THE e |WE
HAE |10 1000 [BREFEAS B - WRENEREARE G| mwn |y
11A6H 1000|1200 [BH B FEER KEFZHH & (E1E) 5-G(1) e
11898 | 10001200 %iﬁ%giggzzéﬁﬁg (’iﬁ%’?ﬁ":%” 5-C (1) WE
11898 [1000[1130|2kT% - ErEE2 (H2E) 6-C (1) BE
11898 [1130[1200|+ AT - pEsEa20EARE (E1E) 6-C (1) RE
11A138 | 1000|1300 (f2fk - £FRFERES (F2E) 5-A(1) HRaE
118138 [1500 (1700 |fi#ERESR (B 1@) 2F XeE=E | =K
118168 1000|1200 |E2ZFER BRERHEICHT 08 (FE1E) 5-C(1) BER
118168 1400 1600 %ﬂiﬁ%iﬂ?%ﬁ%ﬂﬁ%iﬂ?ﬁ@ﬁﬂ% (%1 5-C(2) Bk
1nA7E | 100| 1200 BETZASIED . BASEAKMEIRZ | 60(1, 9 Rl




REBEAE T ER

BATE [T - 2F=% -
ﬁ B B | BERS K"'ﬁ%ﬁ-\ (‘%i%%) :]:Eé
:AEE\E . 5A VAR X ’zA:' -3
RSNk A TN 6-A(1, 2) Bl
HEBGAS S (B1E) 628 w1l
NBAZEE MBI HEARLE >
4= . H 5A/\ 3 ’zA:' 4
ATTE 1200|1800 T e ama 6-C() | B
mEA SRS (81
A+ EASHEAHEARER e-c@ | B
.L\‘u 2/\ A (
M ASRAAHEAHEARAH 6-C(3) Bl
BEE2KE
118198 1400|1600 |{EEE - £FRFHZEE FEFZH> B (E1MAE) SEETX v /R |BEREIA
ZESHMTEER
%Eﬁgﬁ#@*—?éi%;ﬁfﬁ_%%—?;éﬁ -Af‘%i(—"?féé
= " EE#KEKEE iﬁ{f; /J?ﬁj\ 5|-z= %2 i:‘?‘:j(—"?‘j }%—"T‘jﬁ
MAZIA 1000\ 120\ "mexgs  ayuyzasem aaes | 56 Fiosz | HE
TEEERHSHEEES (HE) ARLE
118248 1000 | 1130 |E=S L KEZE S (55244 - 1) 6-BEEE EqK
ER
118248 [1330(1630 824 5-C(1) (2) (B
)
Belnasas v/ LRERTEtacgy | BABFRREIR
11826H 12001 1230 ZRRNEIS (F248 - F1E) :l/i?igizgx)b K5
118298 1500 1700 |#hIk =X EFFFES SCORHF & (FE1E) 6-A(1) EAR
11H308  [1000] 1200 |4 L2 B82S NSRS (B1E) 5-A(1) =




